GSE Geometry

Unit 3 Review Sheet
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4. Find the length of the hypotenuse of an isosceles

3. The length of the hypotenuse is 10 cm. and the length
of one Jeg is 2 cm. What is the length of the other leg?
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triangle with a leg length of ¥/3 inches.
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“Topic: Trig Ratios
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5. Find the sine, cosine, and tangent of 2P 6. Find the sine, cosine, and tangent of 2R
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7. Draw ACAT where AATC 90°, CA = 53, and CT = 28.
What is the sin C?
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8. Draw AABC where £B = 90° and sin A = 20 WP

What is the length of AB? " K
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|7 ¥ Plug into a calculator to evaluate =
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Topic: Evaluating using Trig Ratio

j 9, Evaluate the following trig ratio to the nearest tenth. / 10, Evaluate the following trig ratio to the nearest
‘ | tenth, 3 . 07
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11, What expression is equivalent to sin(43)? / 12. What expression is equivalent to cos(15)?
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Topic: Solving for sides. :

; 15. Solve for x. < 16. Find m.
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17. Solve for p. 18. Solve for s.
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19. The perimeter of an equilateral triangle is 45 cm. What | 20. The diagonal of a square is 5+/7 inches long. What E

is the altitude of the triangle? Urem is the perimeter of the square? !
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1. From 25 feet away from the base of a building, the 22, A kite is 35 feet in the air and the string forms an

angle of elevation from the ground to the top of a building | angle of 62° with the ground. How long is the string?
is measured to be 38°. How tall is the building?

23. An 8 foot iadder is leaning against a wall so that the 24. A rectangle has side lengths of 3 cm and 10 cm.
base is 5 feet from the base of the wall. What angle does | Find the angle that is formed with the diagonal and the
the ladder make with the ground? Round to the nearest long side. (G cw &
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25. Lucy, whose eye level is 4 feet from the ground, 26. You and you friend are visiting the tallest

stands 10 feet away from the basg of a tree. From her line | skyscraper in Atlanta, the Bank of America Plaza. The

of sight, she is looking at an angle of elevation of 40° to building is 932 feet tall. You start heading over to the
the top of the tree. How tall is the tree? Varsity and realize your friend did not follow you. How
far away are you from your friend if your angle of
elevation to the Bank of America Plaza is 34° and your
friend’s angle of elevation is 80°?
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